S’ BURNDY

Washer, Electrical Equipment Bond

WEEB® WASHER

INSTALLATION INSTRUCTIONS
For DP&W Ground Mounts Only

Burndy LLC recommends that the sufficient details of the installation be
submitted to the AHJ for approval before any work is started.

NOTICE

PLEASE READ
CAREFULLY
BEFORE
INSTALLING

WEEB-LUG-6.7

o QL
Products are tested to UL 467, CAN/CSA-C22.2 No. 41 N %°
US/ Canadian standards for safety grounding and bonding equipment.  Intertek

4004188

Document Number 50015227 Rev B

w I L e LJ © 2014 BURNDY LLC. HUBBELL @

Page 1 of 6



WEEB-9.5 AND WEEB-9.5NL COMPATIBILITY

The WEEB® washer family of products can be used to bond anodized aluminum, galvanized steel,
steel and other electrically conductive metal structures. All installations shall be in accordance with
NEC requirements in the USA and with CSA C22.1 in Canada. The WEEB® washers are for use with
modules that have a maximum fuse rating of less than 25A.

Solar Module Frame 1/4" Hex Bolt

Thick Washers for use with

1/4" or 5/16" fasteners.
WEEB-9.5

@/

Mounting Rail\_'

M

S~ 1/4" Split Lock Washer

——1/4" Hex Nut

5/16" Hex Bolt
Mounting Bracket )

—

When fastening with 1/4" or
5/16" fasteners, use thick flat
washer to spread the
embedding force.

For 3/8" fasteners, use
regular washers.

Mounting Frame

.
t

WEEB-9.5NL—
——5/16" Split Lock Washer

—5/16" Hex Nut

Note:

Inspect each module frame used with a WEEB® device to ensure that the bottom mounting
face of the frame is flat, and that there are no hindrances to embedding WEEB® washer teeth.
Do not use a module with a frame that prevents the WEEB® washer teeth from embedding fully.

Document Number 50015227 Rev B . .
WILE LJ © 2014 BURNDY LLC. % BURNDY

Page 2 of 6



SYSTEM OVERVIEW

Components of the mounting
structure are electrically bonded
using the WEEB-9.5NL

Solar modules are
electrically bonded &
to the frame of the

mounting system

using the WEEB-9.5 73
’ ’21':::::: HH1+H FH1+114H
/] m—- 2
SSSNSSNS SRR/ 4SSN BNBNENNE
SSSSSSSN NN/ E8NNN SSSNNEES
ST T AT ]I ATI177771
SSSNSSSS ZENNNSNs BRSNS
L[ A TN ]]71717173
SESSr=748 SNSNNSNE SNENENES
SSNSig;NY SNSNSNSN SNNNNNEN ;

..

SSSNV=SS SES 1171717
SSSNIy:3 8 SESSNNNS SENENNAS
4 L e ——
—— >

Entire mounting structure

fau ¢ Ground grounded using the
qumegongﬁgtfgr WEEB-LUG-6.7 assembly

Important notes:

1. Use general purpose anti-seize compound on fastener threads when installing
WEEB® washers.

Document Number 50015227 Rev B . .
WILE LJ © 2014 BURNDY LLC. % BURNDY

Page 3 of 6



WEEB-9.5 LAYOUT

EVEN NUMBER OF MODULES IN ROW

X DENOTES PLACES TO INSTALL WEEB-9.5
COLUMN X [ROW X2] =CX[RX2] =4 X[1X2] =8

WEEB-9.5 NEEDED = 8

ODD NUMBER OF MODULES IN ROW

A A A e A e N e e )
A A __A_A_A_A__J
A A _A_A_A_A_J)

—4&—4—4—4;—4—4—4—4
———

X DENOTES PLACES TO INSTALL WEEB-9.5
COLUMN X [ROW X 2] = CX[RX 2] =5X[1X2] = 10

WEEB-9.5 NEEDED = 10

Document Number 50015227 Rev B . .
WILE LJ © 2014 BURNDY LLC. % BURNDY

Page 4 of 6



WEEB-9.5NL Installation

Torque fasteners to 15 ft-Ib / 20.3 N-m
after aligning all the rack members. Use
general purpose anti-seize on threads.

Install WEEB-9.5NL between
mounting bracket and mounting frame

A\

N

[
Install WEEB-9.5NL to bond mounting Torque fasteners to 15 ft-Ib / 20.3 N-m
bracket and panel mounting frame after aligning all the rack members. Use

general purpose anti seize on threads.

Document Number 50015227 Rev B . .
WILE LJ © 2014 BURNDY LLC. % BURNDY

Page 5 of 6



WEEB-LUG-6.7 LOCATIONS

Equipment group conductor

Torque to 7ft-Ib / 10N-m

Customer Service Department
7 Aviation Park Drive
Londonderry, NH 03053
1-800-346-4175
1-603-647-5299 (International)

Document Number 50015227 Rev B . .
WILE LJ © 2014 BURNDY LLC. % BURNDY

Page 6 of 6



